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(i} w C {}:In this case, the subdifferential inclusion (3.3) vields oy = (1 -E}H.'I and vy = wy;
solving for wy. wy and inserting the result into the definition of ) yields

¢ v o=
W= Lﬂf}_.u-__ﬂg] and  Jry| > 1+ L) |, || < ,u."zap.

{ii) w € (4: In this casc, &y = wyand vy = (11 E]w:.. and as in case (i) we have that

— (o2 ﬂi:-'-' and |ogl > (1+ D)l Il < w."Zcrﬁ.

(ili) w & Jy:In this case, ) = (1+ ;—'}wj and i = (1- %}wf_l, and hence

w (u,tn) and |ul> 1+ L) J2ap ol > 1+ L) J2ep

(iv}) w € Qu: In this case. tn — {1+ JE} wiand vy € [we {1+ j}}w,r]. Since signi{w.} — sign{v.).
we have from the definition of Quc that we = sign(ua)+/2a 5. Hence

W= (w,msg{:ﬂwzﬂﬁ] \'z:rﬁ lwol < “"'—I.‘llaﬂfﬁ Ia-|>{1+£‘w!zﬁﬁ.

(V) w C (c: In this case, vy = (11 Z}Wz and vy € [wi (1 ﬁ]w.].ﬁs in {iv}). we have that

—_—

W= [E1gn{t~;:|."l.2arﬁ e _] ..q-'Zsrﬁ o] = (1+ g]lw-'lﬂaﬁ. [2= ] }{-1+;;}VIIZQ-'[{'

[vi) w & Qna: Inthis case, [wy, (1+ L—'}m] and s £ [wa, (1- %}w;] . This does not yield an explicit
value for w, although the definition of ()2 implies that |wy| — |wz| < /2af. We therefore
turn to the equivalent characterizaton of w via the proximal mapping

radls b ool b b Sy sl a0l

As(:,1) = (abs(gl) > (l+gamma/alpha) *abs(g2)) & (abs(g2) < sgab);
s(:,2) (abs (g2) > (l+gamma/alpha)*abs(gl)) & (abs(gl) < sqgab);
s(:,3) = (abs(gl) > (l+gamma/alpha) *sgab) & (abs(g2) >
(l+gamma/alpha)* gab) ;
s(: )

s
= (sgab <= abs(gl)) & (abs(gl) <= (l+gamma/alpha) *sgab) &
( s(g2) > (l+gamma/alpha) *sgab) ;
As(:,5) = (sgab <= abs(g2)) & (abs(g2) <= (l+gamma/alpha) *sqgab) &
(abs (gl) > (l+gamma/alpha) *sgab) ;
As(:,6) = (sgab <= abs(gl)) & (abs(gl) <= (l+gamma/alpha) *sgab) &
(sgab <= abs(g2)) & (abs(g2) <= (l+gamma/alpha) *sgab) &
((abs (gl)+abs(g2)) > (2+gamma/alpha)*sgab);



(7 a0) g€ Q.
(0. 7=0s) ifge QY
(@790 zye) ifg€Qp.
(09")y(9) = { (2=91.2 (g2 - sign(qa)2aF)) ifge Q,
{}l (g1 — sign(qy)\2af) . ﬁqg.} ifge Q.
(3 (g1 - sign(gi)y2ap) . 1 (gz - sign(gz)\2af) ) ifge QL.
(3 (55591 — sign(q) 525191 ) 3 (592 — sign(go) s lail))  ifg € Q).

where
Q! ={g:ail > 1+ igel and Igsl < \[2ap}
Q! = {q:1a:l > @+ L)lqyl and lqy] < 2B}

o {q gl gzl = {1+§'}v"2aﬁ}.

Hg = [1/(alphat+gamma) * (As(:,1)+As(:,3)+As(:,4)).*ql + ...
1/gamma* (As (:,5)+As(:,6)).*(gl-sign(gl) *sgab) + ...
1/ (gamma* (2*alpha+gamma) ) *As (:,7) . * ( (alpha+gamma) *ql-
alpha*sign (gl) .*abs(g2));
1/ (alpha+gamma) * (As(:,2)+As(:,3)+As (:,5)) .*q2 + ...
1/gamma* (As (:,4)+As(:,6)).*(g2-sign(g2) *sgab) + ...
1/ (gamma* (2*alpha+gamma) ) *As (:,7) . * ( (alpha+gamma) *q2-
alpha*sign(g2) .*abs(qgl))];
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